HINF AR REHLEEB R A 0512—57997256

KATO L RIRE R/

KATO g F2 MR 45 2 5 15 3 0 22 R 507 5 i Ltk B T A AT A6 o 10 R R g 7
fh > KATO TG RIRE ik 1 A& SR AU & 2 e i S 2 ORI B, AR GE IR S &
SN TR B AN RESE R RG 3 R AN B 3 i B B A T B B, R R e
i, AARRM, HWIRLAREN, TEBW R, RESEREA S, 53 R
B, EIN 3 5 W A P R

[7 B A 48 1 A 22 W2 B A 20 SR RN I ™ FSE Wi 2R 77 0K, e . KATO L RIRE
KRS et BN s TR, T H I8 T e R, A XM, Tomtt.

TO R R A

75 I P ALFE REALE A FR2>5] 0512-57997256

KATO TC B R E ML 5 :
KATO &R MR B A —

A AR AN 22 R 22 e 8 S T S L B EN,  AE L R e B RN R S e e — P 22
i, KATO JoRRIRE RN, DI BAT b BN, Ll 25 7 507 R 2 48 L B e e
(REBAERTT, 548 TR, k!

KATO TG Mg sl —:

KATO JCJRUAE 2 (0, 2Rem A 7 PR, At MR AT — a7 ] Lo, 22%¢



HINF AR REHLEEB R A 0512—57997256

P ILAER

KATO TG Mg o =

KATO LRIEE 24 T A4, AfA8). ma) TR, St micE TR RE, EaK
L B, R AR R KR B !

TR EE A

JC B M 22 ¥R =

1

9N AL EEFEALE A FEA~&] 0512—57997256

Kato TRBEERFETA:
Installation Tools for Tangless CoilThread Inserts

Complete Electrical Tool

Electrical Tool Components (kato LRIEE Hzh&d T E4AH4)



HINF AR REHLEEB R A 0512—57997256

Hex Shank Installation

Quick Disconnect Keyless Chuck
Tool

Transformer

> 3 Electric Driver
1. HLYREHES 2. HHLIREh S

3. AN TR
The electric tool consist of three major components:

e The quick disconnect keyless chuck electric driver.
e The transformer.
e« The Hex Shank installation mandrel.

HHIEH B 3 NS 2 TR B2 BT T ke, Rk M.

KA, KA ah 3 THAM 1+2+3 #7208,

KATO R4 28 51 R AN 22 MR X )]
KATO &R LB E B U e, Teo7 I, 23R 8 R, 44 J5 il AN 2 R Je a3
W EBIATT, T8 THE, $EEReR.

T B

JC BB M 2= iR =

-__.»'ja zll '_‘|_'r '] L ;".'-__'»' in" """ /] |;£._2\ -—_J 0512—57997256

—d



HINF AR REHLEEB R A 0512—57997256

RIS LA RIREX ]
KATO JC RN 22158 KATO T RIRE & 2 he AT R BRI INIRAT, A5 iR
LR EAE 2R N, w7 BT SR b, R LB A SEH, D ¥, U EN &

SN i IR R

——

7,

Yy

-— -
—
a—
—
e
a—
a—
e
e
=

a—
/ﬂ

L

TRIRE 517 IR E D =
KATO JLRIRGUHE 2 T HF 4, Wiz, ma) TR, #RL3nileE TR, &
AR 2 AT, AR AR R R A ) !

KATO LRIBEEME S

Non-Locking Metric (kato TEMZIBEMKSHFE)

KATO Part Number NAS Number & Descriptionkato T2 Z I8 &k 25
2TNM-2.5X.45C-2.5 INSERT, TANGLESS, M2.5X.45 X 1 D,
2TNM-2.5X.45C-3.8 INSERT, TANGLESS, M2.5X.45 X 1.5 D
2TNM-2.5X.45C-5 INSERT, TANGLESS, M2.5X.45 X 2 D
2TNM-3X.5C-3 INSERT, TANGLESS, M3X.5 X 1D




TN P R RENL R FR A F

0512—57997256

2TNM-3X.5C-4.5

2TNM-3X.5C-6

2TNM-3X.5C-7.5

2TNM-4X.7C-4

2TNM-4X.7C-6

2TNM-4X.7C-8

2TNM-5X.8C-5

2TNM-5X.8C-7.5

2TNM-5X.8C-10

2TNM-6X1C-6

2TNM-6X1C-9

2TNM-6X1C-12

2TNM-6X1C-15

2TNM-6X1C-18

2TNM-8X1.25C-8

2TNM-8X1.25C-12

2TNM-8X1.25C-16

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

INSERT, TANGLESS,

M3X.5 X 1.5D

M3X.5X 2D

M3X.5 X 2.5D

MAX.7 X 1D

MAX.7 X 1.5D

M4X.7 X2 D

M5X.8 X1 D

M5X.8 X 1.5 D

M5X.8 X2 D

M6X1 X 1D

M6X1 X 1.5D

M6X1 X2 D

M6X1 X 2.5D

M6X1 X 3 D

M8X1.25 X 1D

M8X1.25 X 1.5D

M8X1.25 X2 D




